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(xta)(x+h) EREATHL
xxtx-btaxtab
=x’+(a+b)x+ab EHYET.
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(x+2)(x+5)=x’ +|7 x+|10

)
(+3)(+4)=x"+7 x+12 |
Cran3+4=7, 3x4=12E25
L0 e +3)(x+4)=x+7x+12
BATH OYET  HELP

(2)
(+6)(+5)=x>+11  x+30
y6+5=11, 6x5=301=5

2 (x+6)(x+5)=x’+11x+30
®5T5H  ©YET  HELP

(3)
(+7)(x—2)=x*+5 x—|14
ANy TH(=2)=5, TX(=2)=—14:h\D
L x4+7)(x—2)=x?+5x— 14
BATSH OYET  HELP

4)
(-DE+6)=x’+5 x—6
A (—1)+6=5, (—1) x6=—612H5
2 (x—1)(x+6)=x’+5x—6
EET2 ‘ wYEY HELP

(=]
(x+a)(x+b) =x2+(a+[7)x+a[7

(4]
(x+1)(x+2)=x’+(1+2)x+1-2=x’+3x+2
(x—=3)(x+5)=x>+(=3+5)x+(=3)-5=x*+2x—15
(=2)(x—4)=x>+(—2—4)x+(=2)-(~4)=x"—6x+8

(x—8)(x+35) =x2—|3 x—|40

(5)

(x+1)(x=8) =x2—’77x—’87
A IH(-8)==7, IX(~8=—8En5
L9 ) (x-8)=x"-7x~8
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6)
(x—6)(x+4):x2—‘2 x—‘24
CRD (-0 =2, (~6) x4=—241:10
CO (x—6)(x+4)=x>—2x—24
HETH PUET  HELP

M
(-3)(x—4)=x’-7 x+H12
CAY(~3)H(~4)=—T7, (-3)x(—~4)=12125
L x=3) ()= 7x+12
BATH ©YET  HELP

(8)
(—35)(x—4)=x’-9  x+20
CHD )HD)==9, (~3)x(~4)=20h\>
2 (x—5)(x—4)=x’—9x+20
BATH OYET  HELP




